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PHYSICS:§Vo|tage, Work, Intensity, & Excess electrons

Directions: Show all work. Make sure you write out the equation, substitute with

units, and leave your final answer in units. GOOD LUCK!!!
1. 1f 8.0 joules of work is required to transfer 4.0 coulomb of charge between two

péints, the potential difference between the two points is:
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2. What force will a proton experience in a uniform electric field whose strength

is 2.00 x 10° newtons per coulomb? o
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3. The number of excess electrons on a sphere that has a charge of
~6.4 x 10" coulomb is approximately?
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4. A point charge experiences a potential difference of 50. volts and work of 10
joules. If the charge has a force of 100 newtons acting upon it, what is the

intensity of the electric field?
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5. If two parallel plates are separ’étég by 2 x 10 meters and have a power
source of 4 x 10° volts, what is the field intensity? o K
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6. ifi’i negatively charged pith baii has a charge of —1.0 x 107 coulomb, the
number of excess electrons on the pith ball is approximately:
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